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SZAE D, 42,380,143 33,117,111 9,263,032
= 330,000
< 3,120,000
Al 38,930, 143
CRANLE(=ESLUE/ER) 41,785,226 32,520, 167 9,265,059
= 330,000
< 3,120,000
Al 38,335,226
&N olZet RH 389,650 459,780 A70,130
NEHEZ HE 100,450 167,080 266,630
401 AIEHI L 20 100,450 151,080 A 50,630
01 A& HI 100,000 150,000 250,000
OXRNEANEZ 7R 22| 100,000, 000& * 14 100,000
03 AlE 2 THHI 450 1,080 A 630
OXENEZ S22l AE2UY
100,000,000& *0.90/100%50%<Z& 2+> 450
H&EH 08 2435t 276,600 276,600 0
201 Let24d] 22,200 22,200 0
01 At 22l 22,200 22,200 0
O1.det==&H| 22,200
SREN BHE FA Qe LY
2,700,000& 2,700
-AHEH AL elEE 500& =1,0000H 500
-S XA 2=clhl 500,000& x100HSH = 5,000
AR RE TEALAY 23 10,000, 000& 10,000
-22 NEA oA 24
2,000,000& *2J4 & 4,000
307 21201 A 254,400 254,400 0
06 23 254,400 254,400 0
OAg [ENHEHE It 480& 530,000 254,400
2 OAIRL THEOEHD] ALK 12,600 16,100 A 3,500
307 2201 A 12,600 16,100 A 3,500
04 DIZHHALALSE E X 12,600 16,100 A 3,500
O" A2 THEHED] AL
18,000,000& x70/100 12,600
C2dHEY MRS 1,014,415 610,648 403,767
C2YE RN 1,014,415 610,648 403,767
201 Let24d] 56,128 36,128 20,000
01 At 22l 30,020 30,020 0
O1.4et=ZHl 26,660




2AMd: T2 A4

HE: RN (45LDE/ER)

ool CRHEE dEs) (el @2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
CREiucEd S Quad
2,700,000& 2,700
DIZEX EREN U PEEYLLD
1,000, 000& *83| 8,000
DI28X ARANHSSE Ea+48
500,000& x63l 3,000
-2FEII= 6,000,000& *2J4 & 12,000
—E2EAE=E ot A2 3
40,000& 20 2 *123] 960
O5.=2 &l 3,360
CCRHMHAD AAA22T DA
7,000 «4Hx102 <123 3,360
02 =24l 26,108 6,108 20,000
O1.332aZLHA 2,600
=2RMe AAEE HR 600,000& x13] 600
—EEAE=E =4 2,000
a4l 1,000,000 1,000
I3 1,000, 000& 1,000
O2.9=H| 2,508
—SHEAY S x4 HEAFY
1, 1003 *952d 12 Al 2+ %20H A 2,508
O3. A& ZHl s Xt 21,000
SHEAHES =& A&
500,000 *2H 2~ 1,000
“HEAYS FMIIMH |2
20,000,000& 20,000
202 O4dl 2,880 3,600 AT20
01 = LH 4 Hi 2,880 3,600 AT20
OISR =N
60,0003 *4H 3 43| 2,880
206 M= Hl 3,000 0 3,000
01 M= 4l 3,000 0 3,000
OE&HE S MII&H M7
3,000,000& =14 3,000
301 gt d= 5,407 4,620 787
0B A =R RAB A4S 5,407 4,620 787
OME=E2R23 5,407
== 216,000& 1«12 2,592
-S4l 7,000 « 1P =222 <123 1,848
- SH| 2,600 1P »222 «12& 687
-Il =l 140,000& =1 23] 280
305 HHal=2 s 50,000 50,000 0
01 Hia=s 50,000 50,000 0
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401 AlEHIZL 2 0HY| 800,000 400,000 400,000
01 Al&H| 800,000 400,000 400,000
OQIANASES & 02X B4
800,000,000 » 1Al 800,000
403 XX SHHS K20 & 97,000 116,300 A 19,300
02 BI2SOHUSXA=2EUEAIE Y 97,000 116,300 A 19,300
SSETCAHES NS B A 80,000,000 * 14! 80,000
OSsSETHES EHET EZ2A
17,000,000 =1 Al 17,000
TEZANESS A2 7,901,655 5,403,667 2,497,988
= 330,000
& 300,000
Al 7,271,655
C2AAE 2 NESA B4 134,231 100,000 34,231
101 Q124 4] 17,431 0 17,431
04 JI2ZtHIZ2 2 NEE S 17,431 0 17,431
O SsEHOtHe &9 17,431
=23 51,7603 »2H 20 x6 & 12,423
-F=54 51,760 2H x5 2,588
AR a3EFIIY 51,7603 x2H 6 622
-AEE J|I2a82e=2 15,633,000 *11.5% 1,798
201 2Et24A Y| 16,800 0 16,800
01 AP 22| d| 4,200 0 4,200
O1.B8t=2H| 4,200
-HAH T2 (EST) ¥Od0lE
600,000 =74 4,200
02 2%l 12,600 0 12,600
O1.2Z22=22H A 12,600
-=& SEHOHZ dMIIe2
800,000& x12& 9,600
-=& SEHOHZ =222
250,000& x12& 3,000
401 AIEHIZL 2 0HY| 100,000 100,000 0
01 Al&H| 100,000 100,000 0
OF=R&E=2 ANEINA 100,000, 000& 14! 100,000
T2XYH SINES 5,637,606 3,445,080 2,192,526
201 et | 2,669,254 2,669,590 A\ 336
01 AP 2t 2] H| 10,460 10,796 A\ 336
O1.B8t==H| 6,000
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O5.2&Hl 4,200
SEEXF 2 AMAAZEX =S4
7,000 x5 x102 <123 4,200
02 2324l 2,658,794 2,658,794 0
O1.332a LA 2,640,000
-JI2(20H)S MIIL3  220,000,0009 «128 2,640,000
O3. A& & Hl R X bl 9,360
-JI2E ExXE(3de) sl
3,000,000& =2CH 6,000
-I2S B (3de) 2sk 7Y
1,400& x200£ =128 3,360
O4. Xt & el 9,434
-Jt2s EXE |X2el 4,717,000 =204 9,434
202 odl 3,600 3,600 0
01 = LH o4 1l 3,600 3,600 0
OE2xY HRFANH
60,000 x5 H »32 43| 3,600
206 = Hl 170,000 170,000 0
01 MHZ 4l 170,000 170,000 0
ONzs BTN 72 170,000, 000& 170,000
401 Al HI K 201 I 2,644,752 601,890 2,042,862
01 A& HI 2,640,000 600,000 2,040,000
OE2xY FH| 250,000,000 » 14! 250,000
O3t & SN EZ NHZ2EH SA
350,000,000 » 14! 350,000
OE2XY &2 A2EH 25
100,000, 000& * 14! 100,000
O2AHel~7 . ZgdAAHe 2 28 EXSAt
70,000,000 » 14! 70,000
OZE=~FEZEH0IIMEZ 25 EXISAM
70,000,000 » 14! 70,000
OdRxzu~7 ZAANE IIE2S XS A
150,000, 000& * 14! 150,000
OIS HUX 2& AIAE X ZA
50,000,000 » 14l 50,000
Os&0hel 2 &X 300,000,000 141 300,000
Ogut2 el F2xd &
1,300,000, 0003 14 1,300,000
03 Al 20 HI 4,752 1,890 2,862
OE2xY KRN AIZ=20H]
2,640,000, 000& x0.36/100x50%<& 2> 4,752
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405 At&tF S HI 150,000 0 150,000
01 A =S FHSH 150,000 0 150,000
ONzs B3 150,000, 000& 1CH 150,000
ANESs Ar 55,405 119,784 A 64,379
101 @124 8] 42,929 53,128 A10,199
04 DIt 22 XS+ 42,929 53,128 A10,199
O3S4ddHl 42,929
-Jl=s 63,530 x3H «20L «8& 30,495
-5+ 63,5303 *3E x34=F 6,481
PN =P S 63,530 x3H «8L 1,525
-AHEE JI2RE3 38,501,000& x11.5% 4,428
201 2yt 2 Y| 11,576 65,576 54,000
01 AtR 22l | 6,840 60,840 254,000
O1.&et=3Hl 6,000
-SSHEH 37 2 A237Y
500,000& =12& 6,000
Ob.=2&Hl 840
-SEH GRFA AAAZ RN S A4
7,000 x1H 10 123 840
02 5524t 4,736 4,736 0
O1.332=2LHA 330
XS A 220,000& 220
==l RUE = =) 110,000 110
O4.xtgd gthl 4,406
-S+8 0ls=saxt 4,406,000 * 1CH 4,406
202 o4 Hl 900 1,080 A 180
01 SLHOHI 900 1,080 A 180
O3Sd38H 20
60,000 12 3 x53] 900
Off L X1 & OF Ab 1<t & > 752,363 501,800 250,563
= 300,000
Al 452,363
401 AIEHI L 2CHYI 752,363 501,800 250,563
= 300,000
Al 452,363
01 AlZHI 750,000 500,000 250,000
OLED EotS DAHAM(ZHIEX)
750,000,000& » 14! 750,000
= 300,000
Al 450,000
03 Al& 2 i b 2,363 1,800 563
OLED 2EotS wHAMY A& 20|
750,000,000 *0.63/100%50%< & 2} > 2,363
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E2ANE RAES 659,971 434,483 225,488
201 £B-2d| 5,763 5,763 0
01 At 22l 5,480 5,480 0
Of. et 3,000
-CEeNoYe YstagY  3,000,0008 3,000
03.294+g 800
~EERRNY VS HAAY 2
100,000& »2H 43| 800
O5.2 &l 1,680
—E2ae HRFA AZAZF[L =S4
7,0003 x2+10 128 1,680
02 =24l 283 283 0
O1.332LHA 283
-EEEE REE 283
© ok 300& *300A 90
© Sl 1,930& 10024 193
202 044l 2,160 2,520 A 360
01 = LH o4 1l 2,160 2,520 A 360
Oz &elg:® =&n
60,0003 x2H 32 63| 2,160
401 Al HIZ 2018 652,048 377,700 274,348
01 Al& gl 650,000 375,000 275,000
OE2RA el 150,000, 000& 14 150,000
OzzaZdFl 100,000, 000& 14! 100,000
OLE A8EZ RRNE 4
100,000, 000& * 14! 100,000
OS2z otRE2 QEHI0 8282 &X
300,000,000 =14l 300,000
03 A& S THHI 2,048 2,700 A 652
OS2 FHl AI8=2Ul
650,000,000 *0.63/100x50%<& 2> 2,048
Al S AR (Ol LA KT & O AN )< &> 662,079 0 662,079
2 330,000
Al 332,079
401 Al HIZ 201 Y] 662,079 0 662,079
= 330,000
Al 332,079
01 A& HI 660,000 0 660,000
OLED EotE DAHAMS(SHIEZSSAHA)
660,000,000 =14 660,000
= 330,000
Al 330,000
03 AIE S THHI 2,079 0 2,079
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OLED BotS WHAIE AIE2014]
660,000,000 x0.63/100%50%<& 2> 2,079
S ADIBIAIE R = 19,142,036 14,352,898 4,789,138
== 2,010,000
Al 17,132,036
SANHEEZNE 8,967,488 7,984,763 982,725
201 et d| 4,200 3,360 840
01 AP 2t 2| H| 4,200 3,360 840
O5.2&4| 4,200
—CANHEEZ FA Y AZAZE2EX =4
7,000 x5 x10L x 128 4,200
202 04| 2,100 1,440 660
01 2Ll 2,100 1,440 660
OZANHEEZEZ L2F=& |
60,000& x5 *73] 2,100
401 AlEHIZL 2 0HY| 8,961,188 7,979,963 981,225
01 Al&H| 8,950,000 7,970,000 980,000
OREL REHZ| TANHEEZZ(Z=3-73)H4
400,000,000 « 1Al 400,000
OREL REHE| SANHEEZZ2(A3-68) M
100,000,000 =14l 100,000
OFREL REILZ SAHEZZ (A2-34)H 4
650,000,000 « 1Al 650,000
OdYs s TAHEEZZ (M-6)HE
100,000,000 = 14! 100,000
Ogadg MIlel SAHEEZZ (Z2-91)M4
200,000,000 » 1Al 200,000
Ogadg @282l TAHEEZEZ2(A2-3)HA
200,000,000 * 1Al 200,000
OdYds =22 TAHEZZ2(A3-34) W&
300,000,000 = 1Al 300,000
OREL REE SANHEZZ(A1-3) HE
300,000,000 » 1Al 300,000
OAE P&l SANHEEZZ (A3-80)M&
200,000,000 * 1Al 200,000
ORAg 249l TANHEZZ(A2-72) WA
100,000,000 =14l 100,000
OAE MAHC ZSAIHEEZZ2(A3-28,2-99) M
o 200,000,000 * 1Al 200,000
OWsH Hhel SAHEEZZ (A2-2) &
300,000,000 » 1Al 300,000
OUsH Ss=e SAHEZZ(A2-9)HA
200,000,000 * 1Al 200,000
OWsd Hhel SAHEEZ (A3-17)HE
300,000,000 = 1Al 300,000
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OsdH &del SAIHEZ=Z(H2-40) K&
300,000,000 =14l 300,000
OsdH &del TAHEESZ(A3-3)H4
300,000,000 =14 300,000
OsdH &del TAHEES=Z(L2-3)H4
200,000,000 =14 200,000
OsdH &del STAHES=Z(L3-2)H4
300,000,000 =14 300,000
Os0I=Y el ZAHEZZ(L2-1) HE
600,000,000 =14 600,000
O&&ES TAIHEZZ(43-458,3-305) 0 &
200,000,000 =14 200,000
OXEE TAHEEZZ(21-10) K&
200,000,000 =14 200,000
OFgs TANHEEZZ(42-3) WA
200,000,000 =14l 200,000
OQds ZAHEEZ(A1-2) WA
50,000,000& =14 50,000
OF38 TAHEEZZ(4A3-93) &
200,000,000 =14 200,000
OsYdsE TAAHAEEZZ(23-182) HAE
300,000,000 =14 300,000
Odgds 22 SAHEZZ(L2-11) HE
300,000,000& =14 300,000
Odgds S22 TAHEEZZ(A3-16)&
600,000,000 =14 600,000
Osdis X2 SAAHNEZZ(L2-44) K&
200,000,000 =14 200,000
Osdis ¢del 8dE SAAHNEZZ(A3-10)
HE 200,000,000 =14 200,000
Osdis |84l TAHNEZ=Z(S2-84) MH&
250,000,000 =14 250,000
OJIAY Ul SAHEZ=Z(S3-68)H&
200,000,000& =14 200,000
OUs™ Muel SAAHNEE==Z(A3-13) K&
200,000,000& =14 200,000
ORAE 4l TAHEZZ2(£23-12) HE
200,000,000 =14 200,000
Oold NHe SAAEZ=Z(L3-24) M4
200,000,000 =14 200,000
OHEES TANHEZZ(M1-17) MHA
200,000,000 =14 200,000
03 Al 2 THHI 11,188 9,963 1,225
OZAHEEZZ JHE AIE20UH
8,950,000, 000& *0.25/100x50%<& 2> 11,188
SAESAME<EE> 2,805,040 1,302,340 1,502,700
< 1,140,000
Al 1,665,040
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401 Al HIZ 201 Y| 2,805,040 1,302,340 1,502,700
< 1,140,000
Al 1,665,040
01 A& HI 2,800,000 1,300,000 1,500,000
Odgds Xdel SAHNEZ=Z(F2-175)HM &
200,000,000 =14 200,000
< 100,000
Al 100,000
O2EE Ml STAHEZ=Z(F2-12)0&
1,000,000, 000& 14 1,000,000
< 300,000
Al 700,000
O2EE MAC TAIHEEZ2(A2-100, A3-25)
HE 300,000,000 =14 300,000
= 90,000
Al 210,000
OEE E4al TAHEEZ=Z(L2-78)M &
100,000, 000& * 14! 100,000
= 50,000
Al 50,000
OFES TAHEZZ(A1-7,21-5)4
200,000,000 =14l 200,000
< 100,000
Al 100,000
OZ=setn MASZ(AM1-11)H4
800,000,000 =14l 800,000
< 400,000
Al 400,000
OsYs &8d=xs8W & TAHEEZZ(21-89
)/ E=! 200,000,000 =14 200,000
< 100,000
Al 100,000
03 Al SR THHI 5,040 2,340 2,700
OZAME=SAME AEFU
2,800,000, 000% *0.36/100%50%< & 2> 5,040
N EZ2E 3,659,968 2,307,110 1,352,858
201 €24l 3,360 2,520 840
01 At 2t 2l 3,360 2,520 840
O5.2&Hl 3,360
-2 FA 2 Mol & & A2LAZR
i sS4 7,000 «4Hx102 «123] 3,360
202 044l 1,680 1,080 600
01 = LH o4 1l 1,680 1,080 600
OXHBATR A2EZ 0|
60,000 x4H x73] 1,680
401 Al HIZ 2018 3,654,928 2,153,510 1,501,418
01 A& HI 3,650,000 2,150,000 1,500,000
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OEdll 84el(2l=205,21E220) =2 &L &
150,000, 000& * 14 150,000
OGSt geotel(2l=204) S22 H
300,000,000 =14 300,000
Osct X&el(el=203) =2H4
300,000,000 =14 300,000
OEdl Hel(=5302)2 HAHSA
700,000,000 =14 700,000
o4&l Bzl (2lE218)cg &2 x
300,000,000 =14 300,000
OJIAH AH-BUH(HEZ103) =2 M
200,000,000 =14l 200,000
O=& &Axel(alz23)c2 82 x
200,000,000 =14 200,000
OXot MEHM(2IZ202) &2 SHEHE
100,000, 000& * 14! 100,000
OJIA SHel(2l=204) 2 X SA
500,000,000 =14l 500,000
03 Al 2 THHI 4,928 3,510 1,418
OXZGsortz=2 ALY
3,650,000, 000& *0.27/100x50%< & 2> 4,928
FOU=JATZAH<E > 2,103,780 401,260 1,702,520
< 720,000
Al 1,383,780
401 Al HI K 201 I 2,103,780 401,260 1,702,520
< 720,000
Al 1,383,780
01 A& HI 2,100,000 400,000 1,700,000
OJIHAYH Dlgel(elz207) &2 &2 &
200,000,000 =14 200,000
< 60,000
Al 140,000
O=&H 232 (elz204) &2 & H
300,000,000 =14 300,000
< 60,000
Al 240,000
OF# sU~F0tel(2l=201) &2 2
500,000,000 =14 500,000
S 150,000
Al 350,000
O=&YH &A=32l(el=203) wk X
400,000,000 =14l 400,000
= 100,000
Al 300,000
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& 50,000
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S 50,000
Al 50,000
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S 100,000
Al 100,000
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300,000,000& =14l 300,000
& 150,000
Al 150,000
03 Al S THHI 3,780 1,260 2,520
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2,100,000, 000& *0.36/100%50%<& 25> 3,780
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300,000,000 =14l 300,000
03 Al 2 THHI 1,080 3,150 A2,070
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CHHl 300,000,000& *0.72/100«50%<& &> 1,080
A2 Had(2l=201) S 2EEZEIA 501,800 160,540 351,260
< 160,000
Al 351,800
T AIEHIR 2 501,800 160,540 351,260
< 160,000
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01 A& HI 500,000 150,000 350,000
Odlg HZH(2l=201) 2L E I A
00,000,000& *14! 500,000
& 160,000
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